= AH O
N = 0 &8 AF S & Al A
20129 & 204 dES ) =sX33Y ~ sA33 Y
A sNS3 1
Y NN SH(SEHLSA/Y - 4E)
St & ZLAY (e & &
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
=X32 10,126, 185 11,704,968 A 1,578,783
= 2,428,520
z 430,535
< 1,373,723
= 5,893,407
AEXE SH (sl a/ded - AE) 3,369,880 3,378,864 A8,984
= 1,306,506
= 430,535
< 395,579
iy 1,237,260
= XAAY 363,456 254,106 109, 350
= 201,015
< 48,731
= 113,710
TEAS 363,456 254,106 109, 350
= 201,015
== 48,731
= 113,710
401 Al HIZL LY 335,546 246,496 89,050
= 179,305
< 46,870
= 109, 371
01 Al&H] 331,046 243,488 87,558
OXEAIH 331,046
OB H£=Z2(61ha) 184,912
= 129,501
< 17,522
= 37,889
O2URZAX2IAI (5ha) 57,334
= 28,167
< 8,750
= 20,417
O& A=< (15ha) 5,731
= 4,012
== 515
= 1,204
O« Mol =22 A& (15ha) 83,069
= 16,575
< 19,948
o 46,546
02 22/l 1,500 3,008 A1,508
TEAY 2Zel2<(15ha) 1,500
= 1,050
< 135
= 315
03 A2 20| 3,000 0 3,000
OZXE ALY A0 3,000
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402 QI 2tXH201 A 27,910 7,610 20,300
21,710
1,861
4,339

W

02 gI2t Bl 27,910 7,610 20,300

& (11ha) 27,910

21,710
1,861

4,339

H W

=R 0| 2,224,638 2,162,747 61,891
,028,253
238,819
957,566

—

MW

MHESHZCSIIAY 400,000 431,000 A31,000

403 XXM S =01 400,000 400,000 0
d a]] 400,000 400,000 0
400,000

= JHRIIALY 1,600,298 1,421,332 178,966
891,249
212,619
496,430

A

101 el Hl 17,168 17,168 0
10,112
2,022
5,034

W
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401 Al EHIZ 2O Y| 1,583,130 1,404,164 178,966
881,137
210,597
491,396

H W

01 Al&H| 1,522,130 1,351,164 170,966

O=IFRIIAFY A A& H (1,100ha) 80,000
44,800
10,400
24,800
O=IIRIIAZ (1, 100ha) 1,277,246
710,575
170,282
396,389
OZX & XIAFZ= 22| (400ha) 164,884
91,602
21,985
51,297
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930
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FA: sXNS3

HE: NN SH(SYHSA/YY - ME)

SRS CLRE
_ _ _ Muo
SA B HRA(SH) - MRAY - B 0l & o i HIREY

= 14,100
= 2,068
i 16,732

BB AXA 32,900 80,650 AN47,750
= 14,100
L= 2,068
i 16,732

402 QI2H X201 ™ 32,900 80,650 AN47,750
= 14,100
& 2,068
= 16,732

01 QItXI=2E X 32,900 80,650 ANA4T7,750
owIAZd (=EE) E= 32,900
= 14,100
= 2,068
= 16,732

AT AIE 615,049 599,160 15,889
& 430,535
& 92,257
= 92,257

A AE 615,049 599, 160 15,889
= 430,535
& 92,257
i 92,257

101 2124l 13,800 13,856 A 56
= 9,660
= 2,070
s 2,070

04 JIZtHIZ22XNHSES 13,800 13,856 A56
oY Z|A 22| 13,800
= 9,660
= 2,070
= 2,070

201 get2Ad| 1,000 944 56
= 700
= 150
= 150

01 AtR2tel 1,000 944 56
oYY Yered) 1,000
= 700
= 150
= 150

301 etE a3 800 800 0
& 560
= 120
= 120

12 JIEt2 43 800 800 0




SN =XTHD
BH: MATE S (STHSLM/AY - ME)
ol YT AIM (9l &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
CPEEEEIREEET] 800
z 560
= 120
2 120
401 Al&HI L 2 THY| 599,449 583,560 15,889
z 419,615
= 89,917
2 89,917
01 Al bl 596,449 580,560 15,889
CH=EIPE 596,449
OYTHA 203,021
z 142,115
= 30,453
2 30,453
CEES 1 262,08
z 183,426
= 39,306
2 39,306
ogzEs 45,000
z 31,500
= 6,750
2 6.750
oxgles 86,390
z 60,474
= 12,958
2 12,958
03 Al = ChHl 3,000 3,000 0
0YTHE Ll 3,000
z 2,100
= 450
2 450
DI 22 16,000 104,000 88,000
2 8,000
= 2,400
= 5,600
QDI H B 2 16,000 104,000 83,000
2 8,000
= 2,400
2 5,600
405 XHAHF S| 16,000 104,000 83,000
2 8,000
= 2,400
2 5,600
01 A USBHSH) 16,000 104,000 83,000
© 282 % (20H) 16,000
2 8,000
= 2,400
2 5,600




SH =R
A MUBYSSHBE U MHHBH(SHASSL/YY - AE)
o9 REYL=IHEYIRE (e @
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
NBUEY2SHEE L MEINBH(STHY A/ - 6,685,463 8,256,732 A1,571,269
E)
= 1,122,014
= 978, 144
2 4,585,305
ZERL=NUEYI RS 1,625,547 2,915,327 ~1,289,780
= 30,000
= 523,000
2 1,072,547
TERHSH L ZHEDL 17,725 22,447 ~4,722
101 Q1214 11,765 14,253 A2,488
04 JIZH22TS B4 11,765 14,253 ~2,488
OBERESH +2A 222/ (60 2) 11,765
ozsos 74,0008 *62 *35] x42H 5,308
O0I ol 44,7002 62 +35] 48 6,437
201 L2 Y| 3,960 8,194 ~4,234
02 ZZ2H| 3,960 3,960 0
OZERHSH M3 (42 55 M)
60,0008 *30H A +122 2,160
OZERHFHE HIIQ3
40,0002 %301 A #1221 1,440
ouel HBRILBR MRS
30,0002 %174 A *122 360
206 T 2 2,000 0 2,000
01 T2 bl 2,000 0 2,000
OBEIESH ASRE FH 7Y 2,000
BU BEZY 40,000 45,000 A5,000
401 AL 2T 40,000 45,000 A5,000
01 Al bl 40,000 45,000 £5,000
OBt &XI(2H2) 20,000,0002! *23| 40,000
VLT 295,122 346,580 A51,458
101 Q1214 282,122 333,780 A51,658
04 JI2ZtHZ22NHSE+ 282,122 333,780 251,658
O=XHEIE 29 (143) 250,762
Zoiurzy 95,7802 +27 2 +92 * 1% 23,275
OxgolL 75, 13021 %272 92 * 102 182,566
ozsos 61,6202 %272 92 x3% 44,921
OAZRE2 Y 2YI 31,360
O=plei3 250,762,0002! *4. 5% 11,285
oLRER 250,762,0002! %2, 82% 7,072
OMTHEEE 250,762,00021 %3, 70% 9,279
OngRs2 250,762,0002 *1.30% 3,260

_‘]O_




SN SN2
BE: NAFASSSE U MYHBH(STHY /Y - 4E)
ool ZRAL=NUEAITE (el &2
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
OZIIQUFER 7,072,002 +6. 5% 464
201 YEr2gy| 5,000 4,800 200
02 T2 5,000 4,800 200
OBHIRB 2,00021%2,500 ¢ 5,000
206 T2t 8,000 8,000 0
01 HEHI 8,000 8,000 0
OFUIPY(HHIIS, DRI, §S) 8,000
MEEH=SUANS R (EF) 126,700 73,000 53,700
= 38,000
2 88,700
401 A& HIZL 2 CH I 126,700 73,000 53,700
= 38,000
= 88,700
01 Al&t] 126,700 73,000 53,700
OMEZB=5T AS 202l (10H4) 126,700
= 38,000
2 88,700
ME =SSR (RH) 31,000 31,000 0
101 2121t| 30,000 30,000 0
VEENEEP TR 30,000 30,000 0
OS, o MEFH=T AS22I(192H2) 30,000
203 2R FZH| 1,000 1,000 0
03 A2 =R 2= Zl Y| 1,000 1,000 0
O=X3Y RFFH| 1,000
CHENERATHELBATL(EX) 163,000 913,300 AT50,300
= 49,000
2 114,000
401 A2 HIL 20| 163,000 913,300 AT50,300
= 49,000
2 114,000
01 Al&H] 163,000 913,300 AT50,300
OCHENS2YEBLATAEY 163,000
= 49,000
2 114,000
CAXSDESSHSESA (XA 7,000 0 7,000
201 YEr2gy| 7,000 0 7,000
01 At 22| H] 7,000 0 7,000
OWEAZH L2 7,000
RAEISHR QORI =M AReS 140,000 130,000 10,000
= 140,000
401 A2 HIL 2O HI 140,000 130,000 10,000




S =
HH: NEUEYSISAH L MHNEE(SEMLSA/LY - ME)
Cel: ZEAY=NUEYI TS CCRLE
- MEg
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
[ 140,000
01 Al&H 140,000 130,000 10,000
ORHESHE UOHR =44 A 140,000
S 140,000
MBI XS 60,000 0 60,000
= 30,000
= 6,000
= 24,000
401 Al HIZ S THY| 60,000 0 60,000
= 30,000
3 6,000
= 24,000
01 Al&H 60,000 0 60,000
oMEEZL(StnE 1H1) 60.000
= 30,000
3 6,000
5 24,000
HEYBEHAY 140,000 160,000 20,000
206 T 2 Hl 20,000 0 20,000
01 2| 20,000 0 20,000
SRABD I2AI HRYUX FEUSAH IR
SAEBR X5E 7Y 20,000
401 Al HIZ S THY| 120,000 160,000 240,000
01 Al&H| 120,000 160,000 240,000
O18ZE T8 I2JAXH(2EE) 20,000
05012 S22 JRTIAY(1HL) 100,000
2E14-335 M E 2 SAS Rl ALS 20,000 50,000 30,000
401 Al HIZ 2| 20,000 50,000 30,000
01 Al&H 20,000 50,000 30,000
OJtZ4 ARARE L = (30km) 20,000
SRS MEY 5,000 5,000 0
401 Al HIZ ST 5,000 5,000 0
01 Al&H| 5,000 5,000 0
0R=3 A= 1,000 #5,0002! 5,000
=3t 20,000 0 20,000
= 10,000
T 10,000
401 Al2HI 2 S CH bl 20,000 0 20,000
S 10,000
z 10,000
01 Al&H| 20,000 0 20,000
OYH=3IAN (18H2) 20,000
S 10,000
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& XML AL (=X) 560,000 0 560,000

280,000
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U

401 AIEHIZ S HYI 560,000 0 560,000

280,000
280,000

Mok

01 A& H] 560,000 0 560,000

01d 250t EANEXBA 50,000
25,000
25,000
oot FXEXIEAM 30,000
15,000
15,000
30,000
15,000
15,000
30,000
15,000
15,000
30,000
15,000
15,000
ol0tS A& XIS At 40,000
20,000
20,000
O otHots dH=L(EX) 30,000
15,000
15,000
afoh CHEOS EE HES 30,000
15,000
15,000
50,000
25,000
25,000
Ol EsaEEHIEAMY 40,000
20,000
20,000
OEH =pH2 ZHAY 200,000
100,000
100,000
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SH =R
HE: NYRUSHSE U MEHHBH(STHYLA/YY - AE)
Sl MR 2ERE (el & 2
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
401 Al EHIL 2O 57,641 53,273 4,368
= 9,157
2 48,484
01 Al &bl 57,641 53,273 4,368
P54 HUIAY(122) 51,241
& 9,157
2 42,084
0254 OHHE HX(82)  800,000%+8IH A 6,400
SNEELETIICES 56,700 95,471 ~38,771
= 28,350
= 8,505
2 19,845
401 A2 HIL ST 56,700 95,471 A38,771
= 28,350
= 8,505
2 19,845
01 Al& | 56,200 95,471 £39,271
OB AMHIA SH2EY| 56,200
= 28,100
= 8,430
2 19,670
03 Al& 2 THbl 500 0 500
OMYNEIA SHZ BEl Y FHY 500
= 250
= 75
= 175
SuExgBe(RA) 9,600 89,000 AT9,400
101 Q1248 9,600 9,000 600
04 JIARBRNS 24 9,600 9,000 600
OS&2 REXY 80,0002 52 3% «8IH & 9,600
A RIARE 2HRI AN 5,000 8,000 A3,000
401 Al HIL 2T 5,000 8,000 3,000
01 Al &bl 5,000 5,000 0
ONXTE ABEl =2 5,000
SR 1,003,284 1,514,879 A511,595
= 620,647
= 106,404
2 276,233
NYEHELH(2X) 975,326 1,486,921 A511,595
= 620,647
= 106,404
2 248,275
101 Q1248 150,616 159,358 N8, 742
= 75,308
& 22,592
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SN SNBHD
Yo NEEUSIBE Y MEHEH(SEALF /Y - HE)
el MRS (e e
- _ - MEg
SN -3H - S2A(2AH) - NRAY - BE= Off & 2K Ofl At ot HusZ
= 52,716
04 JI2H2EHSE S 150,616 159,358 18,742
oMzELHHEY 150,616
OUZLHMEH(2NE, 4L 2T ) 146,616
=2 73,308
= 21,992
2 51,316
OUZLHE TI=| 4,000
2 2,000
= 600
2 1,400
201 LEH2 | 36,200 38,000 ~1,800
2 18,100
= 5,430
2 12,670
01 AL 221 bl 26,200 38,000 A11,800
oMELML 2 26,200
O 22 RIS & bl 10,000
2 5,000
= 1,500
2 3,500
GELIES 6,200
2 3,100
= 930
2 2,170
Obld 2 (ErZR!) 5,000
=2 2,500
= 750
2 1,750
O%M T (ZH) 5,000
2 2,500
= 750
2 1,750
02 ZZ2| 10,000 0 10,000
oYM ZZA| 10,000
2 5,000
= 1,500
2 3,500
401 A& 2L S THY| 732,231 1,098, 130 365,899
2 480,760
= 75,441
= 176,030
01 Al &t 712,231 1,064,000 £351,769
CENNEIISET 415,403
Ol = X 71 ( 140na) 412,866
2 310,064
= 30,841
2 71,961
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2A S22
HH: MESAISHSI L MEHEH(SHMLEA/LY - AE)
el At YElE (&8
- _ _ P NE e
SM-BH-H2A(FAH) - MIRAY - BES Ol koK oﬁ/ﬁiﬁ HusZ
OAUSTAEYE A0 DAFSHA(1002) 2,537
= 1,776
(= 228
= 533
(OF=F=ESEAPNR=RC | 265,314
OX ol X2 Ab2! (100ha) 186,462
= 93,231
< 27,969
= 65,262
OLIR 3= AFH(70ha) 78,852
= 43,514
< 10,602
= 24,736
O©JIEtSHE XIAHE I (10ha) 1,514
= 780
< 220
= 514
OKEHEMNS &Y (310ha) 30,000
= 18,877
< 3,337
= 7,786
02 22/l 20,000 34,130 A 14,130
O« EMNS 22I81(310ha) 20,000
= 12,518
< 2,244
= 5,238
402 QI2tXHE0| A 44,330 94,073 N49,743
= 40,505
< 1,148
= 2,677
02 OI2+CH &AM H 44,330 94,073 N49,743
oAU =H 44,330
O =2 A (600ha) 37,723
= 35,327
< 719
= 1,677
OXl &2 Al (20ha) 6,607
= 5,178
< 429
= 1,000
405 KHAHE S HI 11,949 97,360 85,411
= 5,974
< 1,793
= 4,182
01 ML EEFSH 11,949 97,360 N85,411
OO ZL M (1A S 500) 3,751
= 1,875
< 563
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FAM: =XIS30
HH: MEFARSEX L MEHEN (s LL/2H - LE)
& A= CEREE
_ ) _ pofEN
SAN-ZH-SA(FA) - NFAY - BES O AF K bﬂ/‘\_“’” Hlw &2
= 9,240
201 Ler2A 40,450 73,915 A33,465
= 16, 180
[ 7,281
= 16,989
01 AtR 22l 24,400 73,915 ~49,515
O&E LI 24,400
O4r= & st=aAH| (790 ) 3,950
= 1,580
< 711
= 1,659
ORI &I SHE HI (4041) 20,000
= 8,000
< 3,600
= 8,400
O&SItE A3HH (100 £ ) 450
= 180
< 81
= 189
02 32244 16,050 0 16,050
O=RIZ A2 RXE4(201) 5,000
= 2,000
< 900
= 2,100
OMELARE AXZ2HAIAE SAIHI(8504) 11,050
= 4,420
[ 1,989
= 4,641
202 o4l 4,000 3,000 1,000
= 1,600
[ 720
= 1,680
01 =Liodbl 4,000 3,000 1,000
Ot (MESXSESHI)(200F ) 4,000
= 1,600
[ 720
= 1,680
401 Al HIL 20 18,494 8,494 10,000
= 7,398
< 3,329
= 7,767
01 A& 18,494 8,494 10,000
O&E22 R 0lAB2t x4 (2ha) 8,494
= 3,398
< 1,529
= 3,567
OMELAIAA 10,000
= 4,000
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SN =XZR
HM: MSASGEE U MEHSH (SSOHYSA/AY - A=
CHR: AMEISFE AT ZAALY (&te @2
i} _ _ bolEN=
2AH -3 - SH2A(SH) - MEAMY - BHES 0] At oH Omnou BlusSZ
OLZ 2 A 350,000 %190 & 350
02 2229 30,816 25,999 4,817
OFAIZ BotAH 29| 150,000 * 122 1,800
OFAIZ L 3&A, JI2S HMIIQS
1,000,000 x12& 12,000
OUHII.JIHE MESEU 1,800& 120 ¢ 216
OARYRLSH HHL22 10,800
OAEEH L2 450,000 x 122 5,400
OLsd a2 450,000 x 128 5,400
OFAZ S2/H(ZZHE HIS)
500,00024 * 122 6,000
AHE!THOH o & 139,782 146,766 AB,984
AHEEAL 139,782 146,766 AB,984
308 XXISHHISO0I® 89,782 96,766 N6,984
05 UHXSHH 2RSS 89,782 96,766 A6,984
O A AL 89,782
OO0l 2 AFEE AL 7,290
OHEE2Hd 34,380
OArgt &4 43,291
OAberes 2| 1,260
OAFEFALY EtEE AT O} 705
OAEEX] & A 494
oMt HH 517
OAREEH ARE & 787
OArEte EFSHA IO} 1,058
401 A& HI 220 50,000 50,000 0
01 Al&H] 50,000 50,000 0
OAFEEALS K| E XI £ A 10,000, 000 «57H A 50,000
22| 2,350,662 1,328,709 1,021,953
= 250,000
< 245,000
= 1,855,662
Az ALK el 180, 172 593,218 A413,046
101 @124 4| 100,216 94,662 5,554
04 JI2HH22XEE S 100,216 94,662 5,554
oAty &Cl2el L olFEY 90,000
OO0l = =< (3.5na) 80,000 x5 90 36,000
OM=EZ(4.7ha) 40,0002« 102 90 36,000
O$=28F =2 (8.6ha) 80,0002 x5 %45 18,000
OLiZ2 FHEA 2| 10,216
ooey 37,0002 12210 7,770
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2N S22
M AMHSARIISE L MEIHSH(SHSS /LY - AE
ool AL (ol &
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
OFs4+% 37,0002 x41 1,517
OLUZE BHI(4HEE) 929
201 L2 A 42,556 40,456 2,100
01 At 22l 11,486 7,486 4,000
(OEIEIES=T] 11,486
OstE X7 80,000 *30H A * 128 2,880
OBIIMEMTLY 20,0002 x2)H*3I4 A+ 122 1,440
OYstr 7 20,0002 x2IH 304 A x 128 1,440
OMYDIZHHEETY 1,630 *2000H 326
OFZ A 350,0002! *40H 2 1,400
O2AS oHLy2HE 500, 0002 #4JH 2 2,000
OAZ AREFY(HAZT) 2,000
02 2329l 31,070 32,970 A1,900
OJNZE IS 12,0002 *131S*12& 18,864
oa.5tx=R2 3,500 1 Ax 128 42
OXAIF RIPY 5,670
O0IF DI (7CH) 70,000 7 CH*33] 1,470
OFCIZI L HIIS(2h)
200,000 *3CH *33] 1,800
O48 EHIOI(1TH) 200,000 x1CH*12& 2,400
OJZE FHI 80,0002 «131CH 0. 374 3,144
OS+U «2HI(ZE AME8 X F)
300,000 #4JH 2 1,200
OstEA 22402 350,000 *30H & 1,050
O2LZ HHIx&(2EHI0l 2) 100,000 *11CH 1,100
203 PR =&l 1,000 0 1,000
03 Al =X RFZAIY 1,000 0 1,000
OB ARFXY| 1,000
206 X 2Hl 13,600 17,900 A4,300
01 24l 13,600 17,900 A4,300
oHlE ¢ gH7Y 4,240
O+2E2(HE9E) 9,000 *300% 2,700
OZ3FIATHE(1.2ha) 5,000 50 250
O%=2 2 %38 EHl  3,000% *8.6ha*50% 1,290
OEMBA O MEM 2L
10,0002 *5.0ha*30 1,500
OXYgE JHIZL(MFIIL 2A) 3,000
OSSMESSE %0l 4,860
OA22Y 15,0008 *7 ) x 12& 1,260
OAx7 300,000 *12& 3,600
307 QI2t0I & 1,500 4,000 A2,500
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2A: sX33
B NEEUSHEN Y BTN (STHLLM/UY - 4E)
ool 3 2el (9 E2
B . M. CHe (5 SALO] . THA 2 Al OH HEE =2}
03 AMfRIEHHIEX= 1,500 1,000 500
OE AR 1,500
401 Al HIZ 2 OHYI 20,000 435,200 A415,200
01 A& HI 20,000 435,200 A415,200
OdZARFHI 20,000,000 *14] 20,000
405 KHaHFE S| 1,300 0 1,300
01 AL =S FSHI 1,300 0 1,300
Oo=g &dFIt= 650,000& »2CH 1,300
AL MRRAX A2 30,000 40,000 A 10,000
101 el d| 20,000 30,000 A 10,000
04 JI12HHZ22NSES 20,000 30,000 A 10,000
OXAL MR X 22| (8 A) 20,000
201 L BH2HH| 10,000 10,000 0
02 2==2gHl 10,000 10,000 0
OAN&E2 RX2tel 10,000,000 * 14! 10,000
T332 490 490 0
201 LEH2FH| 490 490 0
01 AR 2teld| 490 490 0
O-EZRRA 299 70,000&*12|x7H 490
CEIFA 2L 340,000 695,001 A 355,001
= 170,000
= 170,000
101 2124 d| 76,000 43,058 32,942
& 38,000
= 38,000
4 D12t 22 RsE=+ 76,000 43,058 32,942
O gz eyl 76,000
oo 37,0003 43 300 44,400
& 22,200
= 22,200
Osgz2=f=g 37,0003 4«64 +50% 4,736
& 2,368
= 2,368
Orssgdsg 37,0003 x4H x65 9,620
= 4,810
= 4,810
OLEEEE 5,884
= 2,942
= 2,942
Ox&Y ey 80,000& »1H 142 11,360
& 5,680
= 5,680
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SN SN2
I ANUSALNEN U MM (SHMNL /LY - ME
ce S (¢t &
S HB . C(SH) - MBEAY - B Ol AF o4 ﬁggf; HDE2
201 Br2 | 36,000 41,143 N5,143
== 18,000
= 18,000
01 ALR 2 2IH| 10, 162 14,908 A4,T46
Odet=2H| 10, 162
OZESTY 425 7
100,000& *3IH 2~ x12& 3,600
& 1,800
o 1,800
O & MHER 22 30,000 55128 1,800
& 900
o 900
Ogsd 2988 ¢ 400,000 x6& 2,400
& 1,200
e 1,200
Ogz2a A28 32 2,362
& 1,181
= 1,181
02 2522l 25,838 26,235 N397
02222 2 HAzx=x= 25,838
OANEZE FHIIR=2 659,500 x12& 7,914
& 3,957
o 3,957
OMY Il =H =& 160& *100kg*365 5,840
& 2,920
o 2,920
OLEXHelAd &3 =2 657,000& 12 7,884
& 3,942
iy 3,942
OAIZEZE &bl 4,200
& 2,100
= 2,100
401 AlEHI L 21| 228,000 600,000 A 372,000
& 114,000
iy 114,000
01 Al&H| 226,000 595,000 A 369,000
OFHEA M= 46,000
== 23,000
= 23,000
OEHIA &X 120,000
== 60,000
iy 60,000
OA&EE HHl ¥ B2 60,000
o= 30,000
iy 30,000
03 Al 20HI 2,000 5,000 A 3,000
O EER A A&=2UY| 2,000
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Q02 {0
SR

0H 1z Ui
[0 U =
300 0p

tol
0l
pal
He
0z
fua}
X
T
r
Ui
o
%
02
ala
z
©
1%
z
(b

B . M. CHe (5 HEAY . B2 HEE Hl =2+
& 1,000
[ 1,000
ot AMA 22T A 500,000 0 500,000
= 250,000
& 75,000
[ 175,000
401 Al HIZL 2 0HYI 500,000 0 500,000
= 250,000
& 75,000
= 175,000
01 A& HI 495,000 0 495,000
ONtMAZERd =4 495,000
OXrMASHA =48 (&EH) 80,000
= 40,000
= 12,000
= 28,000
OXNMAZSA ZH(AB) 415,000
= 207,500
& 62,250
= 145,250
03 AI& 2 0HHI 5,000 0 5,000
OXMAIZR AER0dI 5,000
= 2,500
& 750
= 1,750
A 22 HEI0IEEL (2013 E2HE) ,300,000 0 1,300,000
401 Al HIZ 204 ,300,000 0 1,300,000
01 Al & Hl ,300,000 0 1,300,000
OO EoILtetEr2 (02 L AAIEHAH)
1,000,000, 0002 14 ,000,000
OOElolLtctEt2 (EXIHBI) 300,000
MY 2 ZUI(JIEH/IIEH 70,842 69,372 1,470
Jl2dtl(=sX33D) 70,842 69,372 1,470
HEFXZHI 3,000 3,000 0
203 H R F2Alh| 3,000 3,000 0
04 2EN2ILRFLAY| 3,000 3,000 0
ORNSIZIRFAHI 250,000& 128 3,000
(1] 44,520 44,520 0
202 44l 44,520 44,520 0
01 =LHO B 44,520 44,520 0
OJI2d =8Nl 200,000& *14F 123 33,600
O=ZUHE&EHHI 65,000& 14 x12& 10,920
B2 A | 23,322 21,852 1,470
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